
“Setting the World’s
Performance Standards”

743 E. Iona Road, Idaho Falls, ID 83401, (208) 529-0244 Fax (208) 529-9000

1

Starting Line Products • 743 E. Iona Rd. Idaho Falls, ID 83401 
Sales (208)529-0244 • Tech (208)524-3397 • Fax (208)529-9000 • e-mail: slp@slp.cc 
For instructions in color please visit us on the web @ www.startinglineproducts.com

SLP Super Silent Intake
for 2015-19 Polaris 900 RZR, RZR-S, XC & RZR-4 

Part# 67-281

Installation: 
 
1. Remove both seats (rear seats on RZR-4 models), rear engine cover and all nine T-40 torx bolts on the out-
er air intake cover. 

2. Using a 5/16” Nut Driver remove the intake ducting from the passenger side of the air box inlet.

3. Cut out the template provided, tape it into place on the right side of the intake cover. (Refer to Illustration #1) 
Using the template, punch the center of the circle. 

4. Carefully remove the template, cut out the center circle on the template and set aside. Using a 2 3/4” Hole 
Saw, cut a hole into the intake housing. Reinstall the template onto the intake housing and mark around the 
inside of the circle. Using a barrel sander open the hole to the mark. Use caution and DO NOT go past the 
mark.

5. Install 2” x 3” rubber hose onto the airbox inlet. Using the stock hose clamp and one provided, place them 
over the hose but DO NOT tighten.

6. Reinstall the intake housing but DO NOT bolt into place.

7. Install the provided rubber seal over the expanded end of the  intake tube. Then install the intake tube 
through the hole in the intake housing, with the expanded end going into the rubber hose on the air box. Using 
dish soap and a blunt screw driver, install the rubbber seal into the intake housing. (Refer to Illustration #2)

Kit Contents: 
1 - SLP Super Silent Intake Tube (#67-2811)		  1 - Installation Instructions (#015-67281) 
1 - SLP Decal (#60-60)					     1 - Pre-Filter (#14-226)
1 - Roll Bar Clamp (#093-0061)				    1 - 1/4” x 20 Bolt (#999-0175)
1 - 1/4” x 20 Nylock Nut (#999-3021)			   1 - 2” x 3” ID Rubber Hose (#093-0065)
1 - Rubber Seal (#999-0237)				    1 - Hose Clamp (#999-0238)		
Tools Required: 
#40 Torx Socket		  2 3/4” Hole Saw		  1/2” Drill Motor		  Marker		
5/16” Nut Driver		  Barrel Sander		  Center Punch		



Starting Line Products • 743 E. Iona Rd. Idaho Falls, ID 83401 
Sales (208)529-0244 • Tech (208)524-3397 • Fax (208)529-9000 • e-mail: slp@slp.cc 
For instructions in color please visit us on the web @ www.startinglineproducts.com

2

8. Install the provided roll bar clamp onto the roll bar just above the seat belt mount. Then using the provided 
1/4” x 20 bolt and 1/4” x 20 Nylock nut secure the intake tube to the roll bar clamp. (Refer to Illustration #3)

9. Tighten the hose clamps on the Rubber Hose connecting the intake tube to the air box. Then Reinstall all 
nine torx bolts that hold the intake housing in place, seats and engine cover.

NOTE: Prefilter should be removed for open trailering. DO NOT pressure wash filter, rinse with water and let 
air dry.

Passenger Side 

Illustration #1

Illustration #2 Illustration #3

67-281



3

Starting Line Products • 743 E. Iona Rd. Idaho Falls, ID 83401 
Sales (208)529-0244 • Tech (208)524-3397 • Fax (208)529-9000 • e-mail: slp@slp.cc 
For instructions in color please visit us on the web @ www.startinglineproducts.com

+

Template


